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 BECE-016  

BACHELOR’S DEGREE PROGRAMME (BDP)  

Term-End Examination 

December, 2022 
 

ELECTIVE COURSE : ECONOMICS 

BECE-016 : ECONOMIC DEVELOPMENT : 

COMPARATIVE ANALYSIS AND  

CONTEMPORARY ISSUES 

Time : 3 hours Maximum Marks : 100 

Note :  Answer the questions as per the instructions given 

in each section. 

 

SECTION A 

(Long-Answer Questions) 

Answer any two questions from this section in about 

500 words each.  220=40 

1. (a) Explain the important objectives assigned 

to the public sector in India.  

(b) What are the main shortcomings of public 

sector in India ? 

2. What are the concerns behind Sustainable 

Development ? Define sustainable development 

as an inter-generational issue.  
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3. Explain the impact of economic reforms on trade 

and investment in India. Also examine its 

impact on agricultural sector.  

4. For poor countries, ‘third world debt’ is a crucial 

issue. Why ? Explain the consequences of the 

explosion of debt for the developing countries.  
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SECTION B 

(Medium-Answer Questions) 

Answer any three questions from this section in about 

250 words each.  310=30  310=30 

5. What are the factors which have played a 

significant role in encouraging centralisation ? 

6. Explain the structure of the World Bank and its 

functions.  

7. Explain the growth models adopted in earlier 

plans in India.  

8. Analyse the development experiences of USA 

and Japan in general.  

9. Assess Harrod-Domar model.  
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SECTION C 

(Short-Answer Questions) 

Answer parts from this section in about 100 words each. 

Both questions are compulsory.   

10. Write short notes on any three of the  

following : 35=15 

(a) E-Banking 

(b) Land reforms  

(c) Public-Private Partnership  

(d) Industrial Capitalism  

(e) Dualism  

11. Distinguish between any three of the following 

pairs : 35=15 

(a) Redundant labour and Surplus labour  

(b) Socialistic approaches of Soviet Union and 

China  

(c) Fiscal Policy and Monetary Policy 

(d) GATT and WTO 

(e) Environmental  Degradation  and 

Environmental Crisis  
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 ~r.B©.gr.B©.-016  

ñZmVH$ Cnm{Y H$m`©H«$_ (~r.S>r.nr.) 

gÌm§V narjm 

{Xgå~a, 2022 

 

EopÀN>H$ nmR²>`H«$_ : AW©emñÌ 

~r.B©.gr.B©.-016 : Am{W©H$ {dH$mg : 

VwbZmË_H$ {díbofU Ed§ g_H$m{bH$ _wÔo  

g_` : 3 KÊQ>o  A{YH$V_ A§H$ : 100 

ZmoQ> :  àË`oH$ IÊS> go {XE JE {ZX}emZwgma àíZm| Ho$ CÎma Xr{OE & 

IÊS> H$ 

(XrK©-CÎmar` àíZ)  

Bg IÊS> go {H$Ýht Xmo àíZm| Ho$ CÎma bJ^J 500 eãXm| (àË`oH$) 
_| Xr{OE &    220=40 

1. (H$) ^maV _| gmd©O{ZH$ joÌ H$mo gm¢no JE _hÎdnyU© CÔoí`m| 

H$s ì`m»`m H$s{OE & 

(I) ^maV _| gmd©O{ZH$ joÌ H$s _w»` H${_`m± Š`m h¢ ? 

2. YmaUr` {dH$mg Ho$ nrN>o Š`m qMVmE± h¢ ? YmaUr` {dH$mg 

H$mo A§Va-nr‹T>r` _wÔo Ho$ ê$n _| n[a^m{fV H$s{OE &  
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3. ^maV _| ì`mnma Am¡a {Zdoe na Am{W©H$ gwYmam| Ho$ à^md 
H$s ì`m»`m H$s{OE & BgHo$ Abmdm H¥${f joÌ na BgHo$ 
à^md H$s Om±M H$s{OE &  

4. Jar~ Xoem| Ho$ {bE, ‘Vrgam {díd G U’ EH$ _hÎdnyU© _wÔm 
h¡ & Š`m| ? {dH$mgerb Xoem| Ho$ {bE G U Ho$ {dñ\$moQ> Ho$ 
n[aUm_m| H$s ì`m»`m H$s{OE &  
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IÊS> I 

(_Ü`_-CÎmar` àíZ) 

Bg IÊS> go {H$Ýht VrZ àíZm| Ho$ CÎma bJ^J 250 eãXm| (àË`oH$) 
_| Xr{OE &    310=30 

5. do H$m¡Z-go H$maH$ h¢, {OÝhm|Zo Ho$ÝÐrH$aU H$mo àmoËgm{hV H$aZo 
_| _hÎdnyU© ŷ{_H$m {Z^mB© h¡ ?  

6. {díd ~¢H$ H$s g§aMZm Am¡a CgHo$ H$m`m] H$s ì`m»`m  
H$s{OE & 

7. ^maV _| àma§{^H$ `moOZmAm| _| AnZmE JE g§d¥{Õ _m°S>bm| 
H$s ì`m»`m H$s{OE &  

8. g§`wº$ amÁ` A_o[aH$m Am¡a OmnmZ Ho$ {dH$mg Ho$ AZw^dm| 
H$m gm_mÝ` ê$n go {díbofU H$s{OE & 

9. hoamoS>-S>mo_a _m°S>b H$m AmH$bZ H$s{OE &  
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IÊS> J 

(bKw-CÎmar` àíZ) 

Bg IÊS> Ho$ ^mJm| Ho$ CÎma bJ^J 100 eãXm| (àË`oH$) _| Xr{OE & 

XmoZm| àíZ A{Zdm`© h¢ &   

10. {ZåZ{b{IV _| go {H$Ýht VrZ  na g§{já {Q>ßn{U`m±  

{b{IE : 35=15 

(H$) B©-~¢qH$J 

(I) ^y{_ gwYma 

(J) gmd©O{ZH$-{ZOr gmPoXmar 

(K) Am¡Úmo{JH$ ny±OrdmX  

(L>) Û¡VdmX 

11. {ZåZ{b{IV _| go {H$Ýht VrZ `w½_m| _| A§Va ñnîQ>  

H$s{OE :  35=15 

(H$) {ZaW©H$ l_ Am¡a A{Yeof l_  

(I) gmo{d`V g§K Am¡a MrZ Ho$ g_mOdmXr Ñ{ï>H$moU  

(J) amOH$mofr` Zr{V Ed§ _m¡{ÐH$ Zr{V  

(K) GATT Ed§ WTO 

(L>) n`m©daU õmg Ed§ n`m©daUr` g§H$Q> 


